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Roll Number
Candidate Name
Venue Name

Exam Date 12/04/2022
[Exam Time 9:00 AM - 10:00 AM
[Subject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q1 AfaeT 3 W 9 km 9fREA Fr v weh, fR gl Fr ST g it 11 km wE R 9w @ A
3T 13 km =l 3 3@ F 9w fr 3l 4 km =9 3@ e e e ww @ el g w

e
Ans 7111 km
<210 km
/315 km
<413 km

Question ID : 65497844300
Status : Answered
Chosen Option : 1

Q2 ‘AsB HIadEfh A BaTRUAE
'A% B' BT 3 ¢ fb A, BB HI '
‘A@B AT A BB TILI
A&B HATEIF A BIIIEI
IR 'GHM#T% S @H&R&W@ U 2, dt FruRifad § € 17 a1 sua a@ 7 22

Ans X 1.G, THICEIEI
K2R THUME
3. W, HBI M Bl
K 4.M, SHIAATRI

Question ID : 65497843381
Status : Marked For Review

Chosen Option : 4




Q3  ww & uw @ A s Rt g g ¥, s veel W1 O 6 g &y weae sifea € 5w
HEW & 999 1 S Ty 5 Gl GolF & Al g Berek T OEeI

Ans
<285
X3 3
K42

Question ID : 65497843292
Status : Answered
Chosen Option : 4

Q4 ﬁqw%ﬁwq’fﬁﬂwarm-wmmaﬁa’rﬁy sigett 8 YAfug (?) & R W S
P gl

HDMS, OVVI, VNEY, CFNO, ?
Ans 7 1. JXWE
X 2. KXWE
5 3. JYWF
25 4. IXXF

Question ID : 65497843272
Status : Answered
Chosen Option : 1




Q5 7w = Rerewi § @ 3@ gl F T wE S FFET Wply yEen § wated (7) § T WO

SO

S

Ans

‘B

X 3.

Question ID : 65497843392
Status : Answered
Chosen Option : 4

Q.6 7 gl + ok "+ B 3y & gea faur Wi, < faferfea & & @i ar awffsvo dgfea
Bl SE?
Ans X 1.24-12+6+3=20

X 2.12+4-8+3=11
' 3.22+11x8+3=19
X 4.16+4x83=45

Question ID : 65497843289
Status : Answered
Chosen Option : 3




Q7 A, B 2578 BIeI?1 15 94 q1q, B P 3Tg C B 3T Bt GRIH] 81 S | B FT ad=
3Tg, C P adAT Mg B 19 T 81 A DI gdar g fovait 22

Ans X 1.15T9
K 22599
& 3.209Y
X 4,30 T

Question ID : 65497843488
Status : Answered
Chosen Option : 3

Q.8 TP Fe HIUT H, SOUP Y TNVO & =1 # Rt wirar 21 3t e urar & BowL &t v
¥q # forar wmem?
Ans X 1. APVM

X 2.CPVM
7 3. CNXK
4. ANVK

Question ID : 65497844586
Status : Answered
Chosen Option : 2

Q.9 T® fAf¥d @e UTT &, 'your attention please’ ®1 'puw cuw zuw' RET SITET €, 'kind
attention’ @I 'muw zuw' for@T ST % 3R 'please pay attention’ B 'puw zuw ruw'
ST 8 1 ST e T H *pay BT T f@n wEm?

Ans 7 1.ruw

&2, zuw
3. puw

& 4. cuw

Question ID : 65497843581
Status : Answered
Chosen Option : 1

Q.10 3T TE fawedl & & 9 S give st fg Aol & wafg (7) & F W s g@dt 8|

62, 74, 80, 86, 95, ?, 158
Ans X 1.122

X 2.108
o 3.113
X 4.100

Question ID : 65497843586
Status : Not Answered
Chosen Option : --




Q.11 3T U AR sierR-aue! & A 7 =t 7 fpeft yopR | 9 € ok TP SR B1 39 /T
SER-TE BT I D |
Ans 7 1.UWZBI

X 2.NPSWB
2 3. TVYCH
X 4. ACFJO

Question ID : 65497843577
Status : Answered
Chosen Option : 1

Q12 37 37 3T FT 997 F A fFAiaT g9 & AT F g5y FF gaeaw & § gefar ¥

g, H, YF
Ans

(@D

X 2.

=000

4 OC)

Question ID : 65497843498
Status : Answered
Chosen Option : 4

Q.13 Select the correct option that indicates the arrangement of the given course of actions
in a logical and meaningful order.

1. Open email account
2. Compose email

3. Start computer

4. Enter email address
5. Write the content

6. Send the mail

Ans X 1.3,1,2,6,5,4
/2.3,1,2,4,5,6
2 3.2,5/1,3,4,6
% 4.3,2,6,1,5,4

Question ID : 65497844627
Status : Answered
Chosen Option : 2




Q.14 I fIred ®T T BT &l TR T 9§ S voR Fafia € o ver gasl T,
gl wEr § Heila g1

52:91::72:7
Ans X 1.98
7 2.126
25 3.109
/< 4.138

Question ID : 65497844295
Status : Answered
Chosen Option : 2

Q.15 g A SitS B, B TUIT HY, C "G $I 3R D "YIT B a=0iaT 8, o i o &1
A féren ghme?

46C(6AT)B5A24D6B (27D (9D 3))
Ans X 1.39
217
X 3.65
X 4.21

Question ID : 65497843389
Status : Answered
Chosen Option : 2

Q16 37 Repew #1 T0a L S & T A (X) F TSR A& § (T F AR D)

(X)
Ans

HE S

Question ID : 65497843596
Status : Answered
Chosen Option : 4




Q17 P, Q,R, S, T, U, V 3T W TH & 313 ITR-JE &1 g dieh ufeg # fRa €1 s, TH I
TN RAREIW,PFIT TR RIARLITIG PR VIITHRI S, VP T diy
RARLIW, USSP A IS HZIR, PP ST MM RF WL S I N WH TR
I T IR (R 872

Ans X 1.V
 2.R
X 3w
Xau

Question ID : 65497843382
Status : Answered
Chosen Option : 2

Q.18 ﬁqw%ﬁm?ﬁﬁasﬁwgﬁqiﬁﬁqﬁ@a%ﬁﬁuwﬁﬁa(?)$wwan
TPt Bl

16, 35, ?, 217, 653, 1309
Ans X 1.72

K277

K03.128
o7 4.107

Question ID : 65497843284
Status : Answered
Chosen Option : 4

Q.19 = gior #r Trmifed B & 3ER PQ' T @ T @, 99 Rw ov s a7 g F e @l
wfafas Tafaa 3

chLRgbi

<~dpdT1YXO
~qQpAIdAXD
<dpATY XD
c~dpAdY X0

Ans

Question ID : 65497843395
Status : Answered
Chosen Option : 4




Q.20 ﬁmﬁmsﬂﬁ%ﬁﬁm%mgﬁ%#ﬁsﬁmmsﬁt@?maﬁmmmm
T E O wETE EEe TOSE fEEem

Ans

Question ID : 65497844305

Status : Answered

Chosen Option : 3




Q.21 3w Y Hy= 3R el Bt eargd® U | g% w g o Syl & f 7 aHeR 9w g,
Y g} 98 T U § §d 92l | i udia gl 81, 7@ &% % few e frewwf # @ B
F frrerd Byl BT aifd® T F SR F3d

DY

I e, T
TO M, IS &
Tt a3, va g

forepd:
|Wu% L g
I T 3, A
m.aft g g ar e g

Ans X 1. %ad By Il SER0T a1 §
2K 2.t frenef SR e §
2 3. Had B 11 SR 11l SITER0T R &
7 4. Faa P | SR 11 SRR R §

Question ID : 65497843282
Status : Answered
Chosen Option : 4

Q.22 a@%wmﬁmmmﬁma&n@m%ﬁaﬁmﬁmmﬁ@aﬁm
TE 5 B gui B

C_BN__V__HC_B_H
Ans X 1.VHBNCHV
#< 2. HVCNBVN
< 3. VCBHNVN
«/ 4. VHCBNVN

Question ID : 65497844589
Status : Answered
Chosen Option : 4

Q.23 Tw Fe Tl &, afe PEN oY 17717 feran siran 7, o Seft wten & cAP &) @ fora smam?
Ans 7 1.4319

X 2.2320
25 3.4219
X 4.2319

Question ID : 65497844287
Status : Answered
Chosen Option : 1




Q.24 aﬁﬁ?aﬂwaﬁﬁ%ﬂﬁwﬁwﬁmﬁdﬁa%mmmm%ﬁwﬁ
Heifdra 81

FRONTIER : GSNOUHDS :: CLOSING : ?
Ans .7 1. DMNTHOH
< 2. DMNRHLH
2% 3. DKNTJOH
5 4. BMPTHOH

Question ID : 65497843477
Status : Answered
Chosen Option : 1

Q.25 fiferd e o1 g sreaa HY R 2T e fawet # ¥ 39 W &1 99+ B3 S
TN UyaraS U (?) VI W 31 IHdl 21

1159
1416 ?
753188

Ans 7 1.13
X 2.25
X 3.18
X422

Question ID : 65497843590
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 Wﬁﬁ%ﬁmﬁﬂﬁ%ﬁﬁm%mﬁaﬁ@ﬁﬁmaﬁwmmﬁ
?

Ans X 1.3 I

X 2. TER gwl
7 3. 3fag Raref
X 4. usH Ay

Question ID : 65497844309
Status : Not Answered
Chosen Option : --

Q2 %&r@aﬁﬁﬁﬁwm%wmﬁﬁq{maﬁﬁqﬁnss §. ? YRd W THHU
U2

Ans X 1. faeel 99
o 2. D 9
25 3. 7 99
X 4. JTme 9

Question ID : 65497843312
Status : Answered
Chosen Option : 2




Q.3 yRdty dfyu™ ¥ Fafafea & 3 fea gt 3 nita far fo g & T sgde 368

& dgd foddl ot Hifere SR ) 0 B3 a1 gem @ i © oiv Tar s,
TG 13 & A P el s

X 1. As9d =e
X 2. dd =i
7 3. AEd e
K 4. AT =M

Ans

Question ID :
Status :
Chosen Option :

65497843419
Answered
2

Q4 PofafEd § A S 91 5d BT Ts U e 82
Ans 1. g9-gd

X 2. 9RIed

X 3. W

X 4. GhER

Question ID :
Status :
Chosen Option :

65497843302
Answered
2

Qs g@ﬁmwwuﬁrmmmmm (Frepeaw quifer a) HeTINRI # wifea
?

Ans

X194
K292
<7 3. 97
K4 9

Question ID :
Status :
Chosen Option :

65497843409
Answered
3

Q.6 fafifld § @ B9 91 T T TP gRT AT W 82
Ans X 1.fE]

7 2. Braafer

X 3. g1aan

X 4. HiTTST

Question ID :
Status :
Chosen Option :

65497843600
Answered
2




Q.7 fmfiafEa # @ o149 a1 wafeoiiy Sa wRY, Araarie ufagsEr oiv o faftm el enfe
@) |yt ATl B U U d §¢ DY HATT ST 872

Ans X 1. 3f 9}
2 2. gadi feaqm
o 3. 3 3R
X 4. fay vafaro feaw

Question ID : 65497843507
Status : Answered
Chosen Option : 3

Q.8 fagy wu J 399 ¥ T & IR TR A e arett @iy iR w CaREg Ik d
PRI Sl g1

Ans X 1.7
7 2. Sfarsit
X 3. FA
X 4. faugeii

Question ID : 65497843509
Status : Answered
Chosen Option : 3

Q.9 Which of the following diseases CANNOT be prevented by vaccination?
Ans .~ 1. Beriberi

25 2. Typhoid
/X 3. Measles
75 4. Rabies

Question ID : 65497843407
Status : Answered
Chosen Option : 1

Q.10 Fuferfaa # § frd wHast 2021 W URMETS fhde Uiue (ACC) BT sredel AT 4T 412
Ans X 1. M dgaer

X 2. AR TR

</ 3.5 g

K 4. SR

Question ID : 65497843415
Status : Answered
Chosen Option : 2




Q.11 2021-22 & F9 oI F ATIAR, 3 q61 & foha TRIC A U =T fpw oA €2
Ans X136

2.9

X 3.9

XA4s

Question ID : 65497843402
Status : Answered
Chosen Option : 3

Q12 3 __ PHITH I g
Ans X 1. D6 SEIHRES

7 2. SfiadiorT

X 3. TR

X 4. TRIoA

Question ID : 65497844314
Status : Answered
Chosen Option : 2

Q.13 fiasal (PIB) §RT YRT & TP BT ITG (GDP) FT Ued # g fpar ST 8
I

Ans X 1.4
7 2. URA S0
2 3. g3
X 4. ARDT R

Question ID : 65497843502
Status : Answered
Chosen Option : 2

Q.14 YR wfae F 1003 =i o U, FrafafEa # 3 frw urda agufa 3 & Qe
Ans X 1. TUIS 3fsgd HeH

</ 2. YOI St

X 3. gfaun Sdifig urfed

X 4.3 Y Difde

Question ID : 65497844327
Status : Answered
Chosen Option : 2

Q.15 fFEfIfEa # @ 11 AWHe 9N BT ARS 412
Ans X 1. T

7 2.8

2 3. 32D

X 4. DD

Question ID : 65497843614
Status : Answered
Chosen Option : 2




Q.16 e 31 frafila & & w1 a1 fFaw va 3t uRwrones afvurer & 82
Ans X 1. HdRI® TH@EBYU BT HaH
2 2. 71 &7 ugdn g
X 3. R T T P
7 4. T BT T

Question ID : 65497843606
Status : Answered
Chosen Option : 4

Q.17 fmfafaa & 9 {5 Tydic @) Bradl 2021 # 3R WRER gRT Y Iurdierd & ug W™
Fergar o mar ur?
Ans ;1. fgATeN

X 2. T@war e
X 3. gardg

X 4. At HaR

Question ID : 65497843320
Status : Answered

Chosen Option : 1

Q.18 TR AMR-V & TP B & U &, YR A1 P STeTo STary 14 AIE 2021 B SRS
YRAITE, HIHRE T 1000 Wfew a9 PI SMyfed A UgaTI

Ans X' 1.919
XKoo d
7 3. 9194
X 4.7

Question ID : 65497843518
Status : Answered
Chosen Option : 3

Q.19 FPafifEd ¥ S 5 vaa o1 auH 59 ToR a1 T £ - O ve 3 wua & R
ITNT WIS 3R TR 1 & Fu A fbar oI 81 98 U @he 3 vaa & Rl 21°c @
27°C % oI ATYHTE B TIRAHT il & 3R U8 W sreilg Mg # et ave | gadi 82

Ans 7 1. HEPT
XK 2. 9N
< 3. faa
2 4.

Question ID : 65497843309
Status : Not Answered
Chosen Option : --




Q.20 2020 FT AFE A REPR Y YE foan AT M
Ans X 1. Bl SRART

2. Q8 TP

X 3. MR EsH

X 4. 3T ABGD

Question ID : 65497844325
Status : Answered
Chosen Option : 1

Q.21 g I 8 fecelt R (i) faduw, 2021, o ur 2021 & wifva favar wan
T, & gRT ALK IS & Reeht e sfifam, # weive frar man

Ans 7 1. 1991
X 2. 1996
2 3. 1998
X 4. 1994

Question ID : 65497843622
Status : Answered
Chosen Option : 1

Q.22 IgATel 1 wad Sl wda 9t 81
Ans X 1. W &

252,389

X 3.fowr

7 4. Sffg=n

Question ID : 65497843613
Status : Answered
Chosen Option : 4

Q.23 Frofifeq # & o w ssw wa siamn § 22
Ans 7 1. IERTE

p P XCANICU

X 3. A

X 4. diedRT

Question ID : 65497844323
Status : Answered
Chosen Option : 1




Q.24 famfefaa # @ 59 wex A fedsR 2020 & 2030 § B9 910 TRETE ! &1 A &
¥R o 82

Ans X 1. SdTaf
*X 2. g
X 3.3
4. <8l

Question ID : 65497843523
Status : Not Answered
Chosen Option : --

Q.25 %ﬁ-?:q-ﬁ-tr% (Me-Dum-Me-Phi) Jdsil @t UIT %1 TF Sd 81 T8 T § HATIT STeT
|

Ans 71 3H
K 2. AT U
X 3. ferma v
2 4.7

Question ID : 65497843298
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

3R cotB = 2 ¥, a sec B # A AT L
Ans
X1.E

xo2 2

Question ID : 65497843442
Status : Answered
Chosen Option : 4




Q2 335, 608 3T 853 & FUETHe F 13 ¥ RenfSa FTT R wowT dFer FaAT GoM?
Ans \/17

<212

X3 B

<41

Question ID : 65497843322
Status : Answered
Chosen Option : 1

Q3 o Ry v arg @ 7425 F duer ¥ iR 3@ 15% & @l gei §1 5% wn afe s & R os@
e @ R g W (R #) a9 e

Ans x 1. 445
X2 510
<3 505
4. 525

Question ID : 65497843429
Status : Answered
Chosen Option : 4

Q4 A B R C vk FF F FAY: 8, 10 ¥ 12 R & = waa 1 vF W T F1H W H & a8,
ﬁ%s,ssomgmmuﬁrﬁam%m(%ﬁ)ﬁmmé?

Ans  X1. 1,850
X2 1,500
w3 1,800
X4 7,696

Question ID : 65497843432
Status : Answered
Chosen Option : 3

Q5 fE 3sec? 6+ tanf— 7= 0,0°< 8 <90° ¥, & (200 o gy e el

cosect +secO

K1 442

5
72 =
4 a

<310
5

Ka 2
2

Question ID : 65497844350
Status : Answered
Chosen Option : 2




Q6 Crifre 9% Tt & v 9RER # R At | g aer Afe s gl T §l

fHOT (rent) 9T T W IS GGG T & Fiaerd Fhaar 27

= A WX = e ==Y

Ep

Idren
70
Ans 1. 158

Education

X2 15>
V3 162
3

K4 16=

Question ID : 65497843546
Status : Answered
Chosen Option : 3

Q7 afy x+y+z=11, xp+yz+ze=—6, 3 3 +y3+2° = 1604 ¥, & xyz & Aot Toar gon?

Ans X1 4
v2 25
X3
X4 5

Question ID : 65497844345
Status : Answered
Chosen Option : 2

Q.8 we FeaeR @re 3R UF IEET HER UF & THGH FHE 9 o0 9ER § e & e @ dWr
¥ Ry & 570a AT 60° § I HAR F g7 T HTAAT Fio7 30° 1 IR mEA B 5 24 m

@ FAR # 5T (m B/) T e
Ans X172

X2 24v3(v3+1)
3. 95
X4 24(3+1)

Question ID : 65497843544
Status : Answered
Chosen Option : 3




Q9 ®g P ¥ vF e 7 TR Wik S €, S g9 & fig T W 3@ ven e § #%F PT =105 cm
%1 9aF PAB, [ig A 3iit B W 37 F1 wlosofea e &1 oft PA = 7 cm &, & Sfar AB & war
{em &) AT FLI

Ans X1 8.45
X2 775
<385
v 4 8.75

Question ID : 65497843639
Status : Answered
Chosen Option : 4

Q10 & serafacs ¥ YE? AC it BD & & ®AW get & wae: fig A, €, B iR D W et w
e ¥ W #r e 7 em ¥, 3 f5 fBrw & fgmar &1 ofE BD & 7€ 48 em &, @7 AC
FaTS war §7

Ans  X'1. 40 cm
X2 30 cm
X3 48 cm
v 4 B0 cm

Question ID : 65497843337
Status : Answered
Chosen Option : 4

Q11 & 3ot & e @ s 2 7 §) Al qEen 3 5 6 250 km werd ¥, @ ast 39 = (kmvh
) F1 A fraam £

Ans X1 250
X2 175
X3 150
4 225

Question ID : 65497844342
Status : Answered
Chosen Option : 4




2 ST oo FT =9 A9 AT
5—35+-5X15+5

12-2
Ans X1, — 25
<2 115
3 -495
K4 -135

Question ID : 65497843526
Status : Answered
Chosen Option : 3

Q13 202 1203 — 902 T AT I HT
Ans o 1, 0

#2.378000
v 3. —378000
#K 4. —-300000

Question ID : 65497843435
Status : Answered
Chosen Option : 3

Q.14 7 om Ty @19 v e @A 7 em B ST 10 em SIS 919 U AF F HWWEEST @ A (em? )
T #iftre) (=2 mf)

X 1704
X2 205
'3 924
X 4.1078

Ans

Question ID : 65497844645
Status : Answered
Chosen Option : 3




Q.15 frifam aw o 5 st A, B, C, D 3R E & gamit 1 gor v (st #) A Ay ganit &
Fear (e #W) F g §1

T A, C 3R E & faome For Tanat # wEm @, awat B, C T D & et g Ao
et dr e @ Hgaa e 87

Ans 1. 85 : 49

K287
X3 B5 : B9
X4 57 . 49

Question ID : 65497844050
Status : Answered

Chosen Option : 1

Q16 =& & A, B # 8 7% oier §1 TR 4 9T TR S A 1 1 2 F IS A oA, & B F IwA 3G
(et ) faaelr 32

Ans ;1. 20
X2 11
X3 18
K412

Question ID : 65497844339
Status : Answered
Chosen Option : 1




Q17 Fr=ifea ax % 2014 ¥ 2018 &% A 3k B wak & w1t @ ffas ) & B & ovfar &1 o
& 3neaEs &Y 3k 3 ae v e v & s &

:.‘3'—“

forefrr (2 Foforeer )
i 1
==
e
1
1
2] |

Evy

2014 3R 2018 # A TER & R & T fediw @, 2015 3K 2017 F B YR & FW F F7 FHG
¥ e R §7

Ans 120 1 21

X210 :9

X313 : 12

X454

Question ID : 65497842739
Status : Answered
Chosen Option : 1

Q.18 gromor =T W F1S THEr 6 F6 F 359,200 Ay 10 Fut F 272,000 @ = ¥ @Ry = A aw 2%
o @, o forqey 99t & I T 276,000 @ S

Ans X 1. 3
X210
3.9
K47

Question ID : 65497843633
Status : Answered
Chosen Option : 3

Q19 \ABC #, 4B &7 sweiemss AC & fig D W fiwar §1 afd AB = 12 cm, BC = 18 cm 3T AC =
15 cm §, & AD & w1 (em #) T Fil

Ans 1 G
K29
X35

Question ID : 65497844348
Status : Answered
Chosen Option : 1




Q.20 Rrwifra e 30 3w i vk olier & 40 ol G@RT weg [ TT s @ geitar g1 Rl o w
T 9 F= F BT F FA 10 35F 97 & g9l

e o & g I AREd @ wA sl wra e §

30 SFT T OGUET H CRA HE

w0l

Bl

gl

g3

sl
Ans ¢, 35
X2 17
<332
v4 25

Question ID : 65497843649
Status : Answered
Chosen Option : 4

Q.21 faedr worivT Fnger #1 & saaa oMt % 4 W AR 17 em § 3R gwe sIwer 84 an® ¥ FR @
IRATT (em #) 7T 7L

Ans 1 BB
X2 49
X3 36
X440

Question ID : 65497843440
Status : Answered
Chosen Option : 1

Q22 o =7 w7 sifeea T 1625 §1 e 7ET W 32% A gE &R F A%, 125 F T g whoww A
(forereas Uit & T T Hifew|

Ans X 1 For
X2 4%
#3 5%
V4 8%

Question ID : 65497844336
Status : Answered
Chosen Option : 4




Q.23 7 &1 waw oy sunr ®iF w1 E, R e, 9, 12 iR 16 ¥ fenfem wRer o el iy # 5 A9 wwww
&

Ans X 1. 7985
< 2. 365
3 1085
x4 2525

Question ID : 65497843525
Status : Answered
Chosen Option : 3

Q24 9 FamE et @ itEg 20 ¥ 3H § TE0 o 6EA A9 e
Ans 116
X2 12
X320
X410

Question ID : 65497844647
Status : Answered
Chosen Option : 1

Q.25 wgme Ara F5% Fr 3R g&) 3T & Iee 99 T AeT 282 S ey o) vk e Wi FE 3045 km
o FTar E AR sER R 9 feT 15 km FTARAT S # S F e F 53R F wRor 3w sl &
T R e e Ao AR e (2 o) & e of aef?
Ans 1. 758
< 2. 859
#3944
4 832

Question ID : 65497843327
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate meaning of the given idiom.
To take after
Ans 2% 1. To mock someone
«# 2. To be similar in appearance
£% 3. To chase someone

5 4. To change sides often

Question ID : 65497843367
Status : Answered
Chosen Option : 2




Q.2 Select the option that expresses the given sentence in reported speech.

Mother said, “Abhinav slipped while trying to board a bus.”
Ans X 1. Mother says that Abhinav slipped while trying to board a bus.

25 2. Mother said that Abhinav slipped while trying to board a bus.
25 3. Mother told that Abhinav slipped while trying to board a bus.

</ 4. Mother said that Abhinav had slipped while trying to board a bus.

Question ID : 65497843662
Status : Answered
Chosen Option : 4

Q.3 Select the INCORRECTLY spelt word.
Ans 7 1. Symtoms

25 2. Pilgrim
25 3. Progress
25 4. Mystery

Question ID : 65497844381
Status : Answered
Chosen Option : 1

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. However, when areas in Leh began to experience water shortages, life didn’t grind
to a halt.

B. Ladakh is a cold desert with a low average annual rainfall.

C. Thus, glaciers have been the main source of water for the people.

D. This was because Chewang Norphel, a retired civil engineer came up with the idea
of artificial glaciers.

Ans X 1.BCDA
X 2.CBDA
2 3. DABC
7 4. BCAD

Question ID : 65497843564
Status : Answered
Chosen Option : 4

Q.5 Select the option that expresses the given sentence in active voice.

Hatred can be overcome by love.

Ans 2 1. Love has overcome hatred.
2 2. Love can overcame hatred.

/% 3. Love is overcoming hatred.

</ 4. Love can overcome hatred.

Question ID : 65497843553
Status : Answered
Chosen Option : 4




Q.6 Select the most appropriate synonym of the given word.
DUO

Ans X 1.Loan

25 2.Bond

./ 3. Pair

25 4. Debt

Question ID : 65497843565
Status : Answered
Chosen Option : 3

Q.7 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

He was / late / for school / and punished.
Ans X 1.He was
</ 2. and punished
X 3. late
25 4. for school

Question ID : 65497844359
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.
Appal
Ans .7 1. Assure
25 2. Astound
5 3. Amaze
& 4. Alarm

Question ID : 65497843365
Status : Answered
Chosen Option : 1

Q.9 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

It was a surprising / to receive the gift/ from my brother.
Ans X 1.from my brother
. 2. It was a surprising
#< 3. No error
5 4. to receive the gift

Question ID : 65497843563
Status : Answered
Chosen Option : 2




Q.10 Select the most appropriate meaning of the given idiom.

Foul play
Ans 7 1. Unfair or dishonest behaviour

25 2. A drama which is badly produced
5 3. Unpleasant weather for playing
2% 4. A bad smelling theatre or playground

Question ID : 65497843671
Status : Answered
Chosen Option : 1

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The fisheries sector / have grown significantly / in the last one year.
Ans X 1.The fisheries sector

£< 2. No error
«# 3. have grown significantly

25 4.in the last one year

Question ID : 65497844055
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option to fill in the blank.
She hardly works on weekends, ___ ?
Ans X 1.isn'tshe
& 2. is she
2% 3. doesn’t she

./ 4. does she

Question ID : 65497843473
Status : Answered
Chosen Option : 4

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

My house / is more / spacious than / my sister.
Ans X 1. spacious than
25 2. My house
< 3.is more

7 4. my sister

Question ID : 65497843653
Status : Answered
Chosen Option : 4




Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

| wish | were listening to my parents.
Ans X 1. have listened
</ 2. had listened
X 3. No substitution required

25 4. am listening

Question ID : 65497843360
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.
Rely
Ans X 1. Await
& 2. Move
</ 3. Distrust
5 4. Depend

Question ID : 65497843669
Status : Answered
Chosen Option : 3

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Formally put an end to a system, practice, or institution
Ans X 1.Kill

/X 2. Destroy
7 3. Abolish
X 4. Stop

Question ID : 65497844379
Status : Answered
Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Indifferent to pleasure and pain
Ans X 1. Lusty
./ 2. Stoic
25 3. Cynic
5 4. Prudent

Question ID : 65497843471
Status : Answered
Chosen Option : 2




Q.18 Select the most appropriate synonym of the given word.
Paranoid
Ans X 1. Committed
/% 2. Convinced
25 3. Trustful
./ 4. Distrustful

Question ID : 65497844374
Status : Answered
Chosen Option : 4

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

My older brother,/ which you’ll / meet later,/ is a dentist.
Ans 7 1. which you'll
25 2. My older brother
/X 3.is a dentist
&5 4. meet later

Question ID : 65497842641
Status : Answered
Chosen Option : 1

Q.20 Select the option that expresses the given sentence in passive voice.
Do you trust me?
Ans X 1. Do | was trusted by you?
</ 2. Am | trusted by you?
/% 3. Do | am trusted by you?
25 4.1 am trusted by you.

Question ID : 65497844362
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) unfortunate people in the world.

The whole village was tired (2) him; he was always gloomy, he (3)
complained and was always in a bad mood. The (4) he lived, the more vile he was
becoming and the more (5) were his words.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.main

25 2. utmost
<7 3. most

25 4. maximum

Question ID : 65497843455
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) unfortunate people in the world.
The whole village was tired (2) him; he was always gloomy, he (3)

complained and was always in a bad mood. The (4) he lived, the more vile he was
becoming and the more (5) were his words.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.at

2 2. by
25 3. from

o 4. of

Question ID : 65497843456
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) unfortunate people in the world.

The whole village was tired (2) him; he was always gloomy, he (3)
complained and was always in a bad mood. The (4) he lived, the more vile he was
becoming and the more (5) were his words.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1. mostly

5 2. cyclically
25 3. commonly
" 4. constantly

Question ID : 65497843457
Status : Answered
Chosen Option : 4




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) unfortunate people in the world.

The whole village was tired (2) him; he was always gloomy, he (3)
complained and was always in a bad mood. The (4) he lived, the more vile he was
becoming and the more (5) were his words.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.long

X 2. lengthy

X 3. longest
</ 4. longer

Question ID : 65497843458
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) unfortunate people in the world.
The whole village was tired (2) him; he was always gloomy, he (3)

complained and was always in a bad mood. The (4) he lived, the more vile he was
becoming and the more (5) were his words.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.fatal

</ 2. poisonous
25 3. mortal
£ 4. toxic

Question ID : 65497843459
Status : Answered
Chosen Option : 4




